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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry twomarks. All questions of Paper-IT will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(6] To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

() Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.

=

10.
11.
12.

ferereataret wewemeaT go

qRenef=t STIeT ST i A1 S3eRIet SRel ShIu=aTd fergma.

T ST fiean STRufsreh=an shres e ferera.

T JEAULTHA 50 TEIARN T TR, T TTAH &I 0

ST, A YTITTh el We Te WS a0 SIfard 1. Teaws 79

T 9 farsramsan Tqul STeATHeh AR ST TR

TS G SeaTeR forneaian yeedteht fieft sEet. geardr= 5

forfieraed STTaur HEX TR ST WA Selt STed TurEH

TR

() JTTUCAR SHSTATHIS! TIUlTohar Taeiel Hid SHeT.
e Teerel fha i Saeciel Jeaieht famme T3

() mmwwﬁwﬁﬁw@

EEEEIREEETIC AT W USAIe e,

TS Tt STt T ST /TGS
geardren 5 fufters wageer wa
YYTARNRT ARTEA STE, et Woubent Seel
Wwﬁaaﬁwm#@mﬁm
TeremetHt wig wma,

Gip ey wd qwa;—r gfeeamata gyTuiIshaR
3. TH. IR, LA =1 FoR fergral.

T FEATEIE! (A), (B), (C) 3T (D) &7t =R foehe W et

TR, RIS AT IR THMT WA TITTATTHT Sessh ol

Tea/ Fieal S,

T, : SR(C) T AT W ITHA T

ONON_NO,

SR ST S TH. SR, W?@Eﬁﬁwﬁaﬁmwﬁﬂ?ﬁwaﬁ%ﬁ
4, ST i, me@mmmﬁaﬁmﬁﬁmﬁ
Eﬁﬁaﬁwwmmﬂmﬁmwﬁww

ST HeAT foeneaten THaT ST SRavard Age.

e HueaR formeaty Wgsﬁ@m IR TS ETRIRS
T 0 ST . TSI o 3. TH. 3T, SARANhET
Toer Wl STTeTSRISR AT et war o

Weh T fenar ahTem Afet U =Im=T aTu’ ST,
AT feRal @I SoeT ATUUATE WA ATE,

SR ST ISTTHTS 0T HUTA Shetl STUTR e,




AUG - 50215/11



AUG - 50215/11

Commerce
Paper II

T
gyautent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt A/l questions.

AT ;A TRAULTERG THY UAE (50) SgTARl TR o oA Wod TN g (2)
U SRd. @E U Wred.

1. Appointment of independent | 1. s HATCIRIET 9 & 1T TEATE
Directors is the part of corporate W AIER A
governance as per the.............. .

(A) SEBI (A) SEBI

(B) Government of India (B) 9Rd WHR

(C) Indian Companies Act (C) 9RA™E ST R
(D) RBI (D) fod o% % S
2. Public Enterprise is defined as : o T s .
(A) An organisation run by Joint - .
efforts of Centre and State (A) TST o ShgEhITAT TH3Id TG
Governments T =TTl

(B) An organisation which Centers

to the needs relating to Public (B) wrefwifsr TR e ot

Utilities IO e
(C) An organisation in which (C) 1@l ST T T iead
capital is invested by Public ) .
(D) An organisation owned and
managed by Public authorities (D) Had e FiHeet a S
for definite set of Public .
HicTehT=l o HIHRA ATTerclai Fel

Purposes

3 [P.T.O.



The Environment Protection Act,

came 1nto force from :
(A) 1986
(B) 1987
(C) 1988
(D) 1991

Who 1s the Chairman of the 13th

Finance Commission ?
(A) CR. Rao

(B) D.S. Sharma

(C) Vijay Kelkar

(D) B.K. Chaturvedi

Which one of the following is not the

objective of MRTP Act, 1969 ?
(A) Checking unfair trade practices

(B) Checking restrictive trade

practices
(C) Checking monopoly

(D) Promoting competition

3.
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TR0 TREUT kISl IS ST

e
(A) 1986

(B) 1987

(C) 1988

(D) 1991

1353 fod AN 729 IO R ?
(A) €. #R. =

(B) €I wd. wmi

(C) fosra Heht

(D) &t &. =gdal

1969<AT TH. AL E1.0Y. ST Eeiieiieh]

HIUA e AR ?

(A) sTfea MUR 9Sdl gEfao
(B) freferes =R gt efsifersy

-~

(C) THIYwR IEH

(D) wicHehar drefa




Debt-equity ratio is the relationship

between outsiders’ fund and.............. }

(A) Retained earnings

(B) Shareholders’ funds

(C) Borrowers’ funds

(D) Debtors’ fund

Cash Budget is categorised as........... .

(A) Operating Budget

(B) Long-term Budget

(C) Financial Budget

(D) Functional Budget

6.
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HO gEAE YEOT § oSfeceman fAeh

(B) wrees= fedt

(C) e fasft

(D) Forehi= fAeft

<
[

{gl 3:|‘¥,|r{‘|.ch ("LI g‘[ ......................... W

FIThd shell Sl

(A) FHTHRTST STdHFHY

(B) <reehTeia 7eiehcy

(C) foxfta stefderey

(D) frarcHEw 31efHerey
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When a partnership is dissolved and
the assets are gradually realised, the
cash collected is distributed among
various claimants as and when it is
available, this distribution 1is

called................ .

(A) Gradual disbursement
(B) Gradual distribution

(C) Piece-meal disbursement
(D) Piece-meal distribution

‘Salary paid to employees’ is an

example of................ .
(A) Revenue Income
(B) Revenue Expenditure
(C) Capital Expenditure

(D) Differed Revenue Expenditure

8.
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oA foshed WA, de’l ogd
Helell Ushe fafay e Segr 9 Si9it
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(A) oI Hfedo

(B) ewHrew fodwo

(C) Ws-311 gfaawo

(D) @Te-31= faawm
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ITEIT B
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10. A company provides you the

11.

following information :

2010-11 2011-12
Sales < 10,00,000 % 15,00,000
Profit % 2,00,000 < 3,00,000

If fixed cost is T 25,000, what will

be breakeven point ?
(A) T 1,00,000
B) T 1,52,000
(C) % 1,25,000
(D) T 1,22,000

Which one of the following formula
will be used for computing the price

elasticity of demand ?

% Change in Quantity Demanded

(4)

% Change in Price

Change in Quantity Demanded
(B)

National Income

% Change in Quantity Demanded
100

(©)

% Change in Price

D) % Change in Supply

AUG - 50215/11

10. YHSoH STUUY WEeild Afedl feeft

11.

2010-11 2011-12
foasht < 10,00,000 % 15,00,000
ERdl < 2,00,000 < 3,00,000

SR feeR uR&™ 25,000 THI™, Hiog.
et s@a ?

(A) % 1,00,000
(B) T 1,52,000
(C) T 1,25,000

(D) T 1,22,000

AT forad eafeehdl 919" HuaTgTa!

TTefiedeh! v Y AR A ?

ATl SRSl 9ga

(A) o ¢ [a Wl ha¥
[eh Hdldled Rich Sl dqed

AT &dTcHeh  sigd
T I

(B)

AU SRSl a5
100

(©)

fepmdiidiel Tehel I8

e Yehel a8l

(D)

[P.T.O.



12.

13.

When the firm is producing 3 tons
of Sugar. It receives total revenue
of ¥ 24,000 Raising Production to 4
tons increase total revenue to
T 28,000. Thus marginal revenue
is -

(A) T 4,000

(B) ¥ 8,000

(C) % 28,000

(D) % 52,000

The input costs that do not require

an outlay of money by the concern

called............... .

(A) Marginal costs
(B) Explicit costs
(C) Implicit costs

(D) Replacement costs

12.

13.
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STegl Weh Scae TET 3 29 9o 3cdie
Hd, dogl FEIE THU Uit T 24,000
3. HER SARA 4 27 Td deedmea
THY Tl X 28,000 A HEE

W gt
(A) T 4,000
(B) T 8,000
(C) T 28,000

D) T 52,000

SR FaLdeher STUfd THered

T T RU[E
(A) Hw= e
(B) =feria @
(C) sfaia ©=

(D) AT T




14.

15.

Which one of the following

characteristics 1s not of competitive

market ?

(A) There are many buyers and

many sellers in the market

(B) The goods offered by the various

sellers are homogeneous

(C) Firms can freely enter or exit

the market

(D) Firms cannot freely enter or exit

the market

Total revenue divided by the

quantity sold called :

(A) Revenue

(B) Total Revenue

(C) Average Revenue

(D) Marginal Revenue

14.

15.
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ETeAterdsh! HITd aAfyrsey Tqerfcas

ISR AT ?

(A) STSIRTG qShes UTesh o fashd
3T

(B) famwart fowa ade aw
THISEH 3Tea

(C) foshiaen HesTaul ISR 4 Yehdmd

=1 | L R ECNS |

(D) fosrrEsen Tgsuol STSRId I fohdn
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TBUldrd

(A) et
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(C) FuEd st
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16. A collection of methods that enables

17.

us in making decisions about a
population based on the sample

results i1s known as :

(A) Primary data

(B) Interview

(C) Questionnaire

(D) Inferential Statistics

Persons who go to respondents and
gather information form them
through pre-designed schedules are

known as :

(A) Researcher

(B) Enumerator

(C) Systems Analyst

(D) Data Miner

AUG - 50215/11

16. SHAIER SR fsehtioed Fawiemedd

17.

frofa 90 v A ST ARSI

i Vir iR k | egh

(A) wafaes 9r

(B) Herrerd

(C) wyATaett

(D) AT TR d

JfRIGehThe ST, Jakfad I eEigR

(A) Genesh

(B) 9T

(C) womet faversen

(D) 9 SEH-GNHS

10
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18. The collection of original data by | 18 37<9u&M &d: ke q?,aqqniggmﬁm
the investigator himself is known | ... SR T
as :
(A) wafae Tl
(A) Primary data
(B) =\ 9t
(B) Secondary data
(C) et
(C) Questionnaire
(D) FTTg=
(D) Schedule
19. The collection of data compﬂed by 19. 99 hIOMT-ATATTRSHT 3T Hldd Hehleld
some one else another than the user, helcll GRTTTd fohell THeRIeTd Toredeier
Which may be jn published f()rm or .q..l..i.‘gﬂﬁ.g ....................................... 31@
in unpublished form is known TEUATA.
ASeeeeeereeeenn .
(A) wafhe arf
(A) Primary data
(B) =4 gt
(B) Secondary data
(C) et
(C) Questionnaire
(D) Schedule ©) A
11 [P.T.O.



20. The presentation of classified data

21.

in tabular form 1is :

(A) the last step in statistical

analysis

(B)

the elementary step

(©)

not very important in statistical

analysis

(D) important in statistical analysis

“Any organisation in order to
achieve its objectives should form its
organisation structure based in
activity analysis, decision analysis
and relation analysis” is the view
Of cevieeiieiens .

(A) Koontz and O’Donnel

(B) Mary Cushing Niles

(C) Peter Drucker

(D) Albers

AUG - 50215/11

20. afiehd MRS RUTEEURITE TG

21.

(A) & TS favdvude geid
Qe IRl SR

(B) & wafgs w=dl e

(0) & gEEmmsE faavunde ®RY

T TEUR U SR
(D) ¥ SRS faversomg mewm
3Te.

TERN S99 of9ell €99 W™ hidHT,
‘MU TEATCHE Gl SR - favere i,
T fageror 9 wey favesor ame

MR oT9me.’ &1 A

(A) &g 9 slerd
(B) #& s i
(C) Y g

(D) IR

12



22.

23.

A concept about to achieve the pre-

determined goal 1is :

(A) Control

(B) Planning

(C) Evaluation

(D) Direction

Which is the basic function of

management in respect of future

management action spring ?

(A) Organising

(B) Planning

(C) Directing

(D) Controlling

AUG - 50215/11

22. QEMEING €9 Hied HI0ATA HohadHl

BN

A) o

(B) fasH

(C) HIHIA

(D) fewes™

23. SFLATYATAT HIVAT Hed HTATGA

SFFTATAATAT TS ThdId  FTSTR I

Bd 2

(A) gued

(B) fasH

(C) fegmes™

(D) T

13

[P.T.O.



24.

25.

The principle of centralisation as one
of the important principles of

management was given by :

(A) Taylor

(B) Terry

(C) Urwick

(D) Fayol

How many purpose has been

identified by the Peter R. Drucker

about the business ?

(A) Six

(B) Four

(C) Eight

(D) Ten

24.

25.

AUG - 50215/11

e N ) LN
(AT % oA™Y aTdldiet Hetld

T I fea .

(A) TN

(B) b

(C) Ffd®

(D) ®arE

ol 3Med ?

(A) ¥

(B) =R

(C) 313

(D) <=
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26.

217.

Any marketing mechanism’s

ultimate objective is to develop :

(A) Brand

(B) Process

(C) Behaviour

(D) Theory

The concept of marketing mix
involves a deliberate and careful
choice of organization in terms of
product, price, promotion and place

strategies and............... .

(A) Philosophies

(B) Policies

(C) Concepts

(D) Planning

27.

AUG - 50215/11

(A) e
(B) wfshan
(C) &
(D) fagr

faqum s Hehea & Th qYEE,

fa o ‘ N L
coloosilaen Helcadl YAl €°r ScHlg,

(A) e
(B) &ru

(C) Hameu

(D) T

15
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28. Sub-dividation of marketing 1s | og fyqum IUQrEvhar o1 TeTeaTa.
called as................. .
(A) fawmroft
(A) Segmentation
(B) fogum et
(B) Allocation of marketing
(C) Only segmentation (€) w4
(D) Market segmentation (D) =R fayrmon

29. Channel of distribution acts as a

99. Y@ fodqiur § I 31T

linking pool between the producer

I S0 - Hd.

and.....cceeeeeeeenn... .
(A) TEEyg
(A) Middlemen
(B) sifqw Susiiern
(B) Final Consumer
(C) Wholesaler (C) 3%
(D) Retailer (D) foriRI foshan

16
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30. Which factor comes under internal

30. <RIV T2k A IdERONd Il ?

environment ?

(A) omfdes
(A) Economical
(B) TSR
(B) Political
(C) Financial resources (C) foxita Tomem
(D) Social ) 3

31. According to.........cccccuuue... principle,

31. ufasgswrefia Afafaa =1 WS

1deal capital structure should be able

o o e eeebaceraae
TSt eyl Wiedd Wl

to cater to additional requirements

T Y.
of funds in future.

A)
(A) Control

(B) wafaehd
(B) Flexibility

(C) qferm
(C) Cost

(D) Ses=A
(D) Timing

17 [P.T.O.



32.

33.

Financial management is a part

Of eeeeeeeiiiiieieeeen, .

(A) Business Management

(B) Financial Accounting

(C) Management Accounting

(D) Human Resource Management

Economic life of a plant is 8 years,
and its costs are ¥ 5,00,000. Annual
Saving (cash inflows) is ¥ 1,00,000.
Hence post payback profit would

be :

(A) % 3,00,000

(B) % 2,50,000

(C) T 4,50,000

(D) % 2,00,000

33.
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(A) HIEE TIEATIH

(B) o orershH

(C) TEHH HEEATIH

(D) Aa GEEH oL

T YR e et 8 9% eTe
st =i foRed 2 5,00,000 3T aftie

g9d (WG Fa8) T 1,00,000 3R, @

(A) % 3,00,000
(B) % 2,50,000
(C) T 4,50,000

(D) % 2,00,000

18



34. When a company is notin a position

to distribute dividend in cash due
to liquidity problem then company

can -

(A) Distribute profit in cash

(B) Distribute Assets

(C) Distribution dividend in the

form of bonds

(D) Distribute property

34.

AUG - 50215/11

N N

NECK

Al TR T

ST U]
ey HE Yhd AT, Aded S

(A) @ TRE 9ReY Hd

(B) HioTH= 9ed g

(C) =T Weud T 9ed hig

(D) HUx® 9red Hda

. 35. AW 3UEHFh HFHETa= &=
35. The cost of preference share capital
1s after tax which can be converted &aiadid a2l
110170 JRUUUUURRUOROO .
(A) e w=d
(A) Cost before profit
(B) =Xgd T
(B) Cost before tax
(C) wUYEd T
(C) Cost after tax
(D) Cost before dividend D) = A
19 [P.T.O.



36.

37.

Which are the operational functions

of Human Resource Management ?
(I) Compensation

(I) Directing

(ITI) Development

(IV) Integrating

(A) I, II, III

(B) II, III, IV

(C) 11, IV, I

D) IV, I, II

The Apprentices Act was passed

Meeeeeeenn. }

A) 1971

(B) 1948

(C) 1961

D) 1953

36.

37.

AUG - 50215/11

AS66 AT hIUTd HIATCHE I

Aed 2

() THEFTRIE
(1) fezmests
(I1D) feshre

(IV) ThTeHt
(A 1, 11, 111
(B) 1II, III, IV
(C) 1L 1V, I

O 1v, I, I

f3TehTs: HHAR HTIST shegl I hivaTd

A ?

A) 1971

(B) 1948

(C) 1961

D) 1953

20



38.

Human Resource Management

obectives 1s combination of :

(A) Functional and personnel

objectives

(B) Societal, governmental and

organisational objectives

(C) Local, state and international

objectives

(D) Societal, organisational,

38.

AUG - 50215/11

Y] THEA TR e § Wl

Sfeweren Iz e :

(A) g nfor sH=ERifauges e

(B) GmIfSIeh, YMhE A0 TeeAcHs
Sfese

(C) Tenfaes, widtE omfor SATaSe™
e

(D) TSR TeeATH, foharcaer afor

functional and personnel
BRI LR E S A
objectives
39. What is the initial step in 39. WXt Ufohamed ShREi-TSH Svam! guH
developing a recruitment action IR IO e ?
plan ?
(A) BEIER
(A) By Position
(B) qfHshgar
(B) By Role
(C) HMTTER
(C) By Worker
(D) By Job D) = lii““
21 [P.T.O.



40. The main objective of selection

41.

Process iS................ .

(A) Planning

(B) Communication

(C) Job evaluation

(D) Employment

The financial stability of any bank

1s determined by................ .

(A) Capital Adequacy Ratio

(B) Credit Deposite Ratio

(C) Current Asset Ratio

(D) Debt Equity Ratio

AUG - 50215/11

40. e gfsra=n g 3 FIvMA A8 ?

41.

(A) fsH

(B) HewTeRd

(C) =+ o=

D) IR

(A) oread qATar WHIOM

(B) wa & wHmom

(C) T HATTHAT JHION

(D) St THYTET FHOT

22



42.

43.

The minimum capital required to
form a private banking company

1Suueeieeeeeeeeeeeeans crores.

(A) 1000

(B) 500

(C) 200

D) 100

Which of the following function is
not performed by non-banking

financial institution ?

(A) Issuing loans and advances

(B) Issuing cheques

(C) Issuing promissory note

(D) Issuing bill of exchange

42.

43.

AUG - 50215/11

T TS SR YHSm TTUA

OIS foham “-IiSOK’I qucql

Ty AT

(A) 1000 =ret
(B) 500 hret
(C) 200 =it

(D) 100 =it

WAt HIA h1E faR-s foxia

TEHE el I A ?

(A) &5 o Sua <0

(B) &Ry <0

(C) == foadl 30

(D) fafma w3 <o

23

[P.T.O.



44. Which of the following functions is

45.

not performed by Reserve Bank of

India ?

(A) Control the Credit

(B) Issue of Currency Note

(C) Advice to Government

(D) Loan to Government

All co-operative banks are regulated

(B) R.B.I. and State Government

(C) S.E.B.I. and R.B.I.

(D) R.B.I. and Central Government

AUG - 50215/11

44. TATATR! HIUG HE g oh AH

45.

sfea &id @ ?

(A) "q frEem

(B) <o Tt

(C) AT Hoel

(D) IMEATET et

A fEE 5%

(B) g d =7fon T WHR

(C) Tet anfor figrsd sk

(D) g s aMfon &g TR

24



46. The theory of comparative

47.

advantage is developed by

(A) Adam Smith

(B) J.S. Mill

(C) David Ricardo

(D) Bertil Ohlin

Component of capital account

1s :

(A) Export of goods

(B) Amortisation

(C) Private payment

(D) Insurance

47.

A) ofeq f=y

(B) S. T

(C) Sfwe Renret

(D) sEA STNEA

AUG - 50215/11

edd 9999 UeHh

(A) Hrerr=it T

(B) kel TIQ

(C) =il wEm

(D) famn

25
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48. The function of International

Monetary Fund (IMF) is :

V:V)

(B)

(©)

(D)

To act as a short term credit

institution

To assist the reconstruction and

development of the member

countries

To promote the long term

balanced growth of

international trade

To provide development finance

on easy term to less developed

member countries
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48'W:ﬂ.&[ﬁ%ﬂaww ...........

(A)

(B)

(©)

(D)

JCYHST  hel WEIURT  HH
O
FTEE  IIME BWIAT F

foehrd  Hed Y0

A AR S eahTe™

gAdA fIREd BIUYR A0l

Acufaehdid 29N fashrEmEa:

faxita  |ETY WM JAS G

e
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49.

50.

The principal function of IBRD is :

(A) To provide a machinery for the

orderly adjustment and

exchange rates

(B) To promote the long term
of

international trade and the

balanced growth
maintenance of equilibrium in

balance of payments

(©)

To provide machinery for

international consultation

(D) To help in stimulating the

productive investment of

private capital

EXIM Bank of India was set up as

a -

(A) Wholly owned corporation by

the RBI

(B) Wholly owned corporation by

the IMF

(C) Wholly owned corporation by

the IDBI

(D) Wholly owned corporation by

the Government

49.

50.
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e Ef'TsTr{?ﬁ% E@q EFP:f ......................
3e.

(A) GG Sezantt 3o fafeey =mehia
RERUIUEL

(B) SATAIUSITT ATIRIALA  HATA
TGl el IS AT
HIBRATA HE FHAI R ATE1S!
YIS HT0

fal

(C) STAWTITT Hoel JA|ST FF0

ferr

(D) ST OTEIAT=AT 3cUTEH
E’ E

ORAT TSR seh=l Tl

RE-CIR BT
(A) SR =0 qui Jrerehten
(B) ST.UA.TS. =41 YUl HIctehi=n 7

(C) . ghet.ema. = qui Hiethi=
frm

(D) W= Ui Aieeen fm
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